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:,  P(E  3)  = g = ;

:. 1 . P(E,)  = 6 = f

2. P(b)  = & = t

3. P(E,)  = $ = ;
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4 . P(E,)  = 6 = a

1 2 3 4 5 6

iheJfjil&J  (x, y)l6  x abwPabsblvosgTla~l~~~~~~,  y arwwa~m"uuas~nah~n~wos

1 . .-. A = ((3, 6), (4, 9,  (5, 4),  (6, 3))

:. P(A) = 3% = ;

2 . B = ((5.8  11,  (5, 2h  (5, 3),  (5, 4)>  (5, 5), (5, 6), (6, 11,  (6, 2),  (6, 3),

(638  4),  (6, 5), (6, 6’}

:. P(B) = g = 5
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3. AnB  = ((5, 4),  (6, 3))

:. P(AfIB) = 3$  = &

:.  P(B)  =.  g = ;
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'DC
3

= _g = ;oXc)YiXx7!~__ = 120
3!7! 3x2x1x7!
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P(OUcq  = P(Q)+ P(u))

Lad (PU@ = 0
P

6dil.k P(@UO)  = P(Q)

mn (1) i%(2)  %%I

P(Q)+ P(@)  = P(Q)
Y

6isQu P(O)  = P(@)  - P(Q)

= 0

VlqpI&JVd 2 fil E Lb% F d~LM~i7lXib “I  Lath

P(E-F) = P(E) - P(EnF)

&pti  awa1zh E = (E-F) U (EnF)

Lb%  (E-F) n (EnF)  = 0

6sih P(E) = P((E-F) U (EnF))

= P(E-F)+ P(EnF) (hl?SratWdk&A~~  2)

LWW&iWP(.E-F)  = P(E) - P(EnF)

ikpi  swa1r-h EUF = FU(E-F)

bbAt in (E-F ) = a
s,

t%k4 P(EUF)  = P(F  U (E-F))

........ ..(I)

........ ..(2)
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1. Wlt$@lTP(EUF)  = P(E) + P(F) - P(EnF)

:. P(EfiF)  = P(E) + P(F) - P(EUF)

= 1+2-5=!
2 8 8  4
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2. 81n$Gl4  P(E-F) = P(E) - P(EfIF)

_ 1 l-1
24 4

3. QF-E) = P(F) - P(FnE)

4. P(E) = 1 -P(E)

5. P(F) = 1 - P(F)

6. P(EUF) = 1 - P(EUF)

7. P(ECIF) = 1 - P(EfIF)

8. P(F -E) = 1 - P(F-E)

9. P(E-E) = P(E) - P(ET\E)

*lo= i-i=
hl E-E = @

&&I  P ( E - E )  =  P(a) =  0

10. P(EfI@  = F’(E-F)  = P(E) - P(EnF)

11 1
= i-S=i

MA 103
197



198 MA 103



P(Anc:)  = 152 0 0

5P(AnBnC)  = m
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80 65= I _ 25

200 200 200

12’  3z -=  - =
200 5

0.6

= --+55--L?80
200 200 200

120=-
200

3= - = 0.6
5

ardhi-il  7.3



(81) W-Ed (2)  P(W-W  C-J  Ed)
(v) WI  U (EznL))
(@J)  P(&JE,)



6.

7.

8.

9.
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